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Please check that this question paper contains 8 printed pages.

Code number given on the right hand side of the question paper should be written on the
title page of the answer-book by the candidate,

Please check that this question paper contuins 32 questions.

# Please write down the serial number of the gquestion before attempting it.
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ECONOMICS
i

Time allowed : 3 hours : Maximum Marks @ 100
fylfia amg - 3 o2 T 3 100

General Instructions :

(i Al questions in both the sections are compulsory.
(i) Marks for questiona are indicated against each,

(i) Questions No. 1 -85 and 17 -21 are very short-answer questions carrying 1 mark each,
They ure required to be answered in one sentence cach,

{iv)  Questtons No, 6— 10 and 2226 are short-answer questions carrving 8 marks each,
Answers to them should normally not exceed 60 words each.

) Questions No. 11— 13 and 27 - 29 are alse short-answer queétt'm:_"i carrying 4 inarks
each. Answers to them should normally not exceed 70 words each.

(i)  Quegtions No. 14— 16 and 30 -32 are long-answer questions carrying 6 marks each.
Answers to them should normally not exceed 100 words each.

(vit) Answers should be brief and to the point and the above word liniits should be adhered
to a& far as possible.
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SECTION A
T g o
L. What is u demand schedule ? _ 1
H e = @ 2
2. Define ‘production function'. 1

SHRA T Fouftamy e |

3. What is ‘market supply’ ? 1
AR G # o st g2

4. Define ‘equilibrium pries’, 1
e F w5 g S |

%  Defing ‘Marginal Rate aof Transformation’. 1
TRV Wi o & e S |

6. Price elasticity of demand for a good i5 (—)2. The consumer buys a certain quantity of this
‘good at a price of Rs. 8 per unit, When the price falls he buys 50 percent more quantity.
What is the new price 2 a
U oG W A F A AN Q2R | 39 36 95 9 8 AT §HE FHG WS
waﬂmhmfmﬁnm-ﬁfhﬁssunﬁmmwaﬂw%mﬁﬁm

T8 7

7. Given the market price of a good, how does & consumer decide as to how many units of
that good to buy ? Explain, 3
U G F W ASK AR G S TE B G0 S 2 e g sw Bt
am @ie 7 TR | T |

B. What is the likely effect on the supply of & good if a unit tax is imposed on that good ?
Explain, ]
ﬁwmwwﬁamﬁmmﬁmaﬁﬁ@ﬂwmnﬁaﬁm
# 7 wwEEn
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Explain what happens to the profits in the long run if the firms are free to enter the
industry. '

OR

Explain what happens to losses in the long run if the firms are free to leave the
andustry, '

o 1 1 e = o o o e e e o o
HHEEE | !

Srorar
AR wH @ I Y A SE A A @ A dnwe § el WOFEr N gear 8,
HHEE |

Explain the central problem of the choice of products to be produced,
IO A IR F g W FT GEe GOERET |

Complete the following table :

Price Cutput Total Revenue Marginal Revenue
(Rs.) (Units) (Rs.) (Rs.)

10 1 - -

T 2 14 =

- 3 - 1

& 4 12 =

(%) (37%) (%) (.)
10 1 - 52

= 2 i4 =
= 3 = 1
— + 12 -

Explain producer’s equilibrium using a schedule. Use total cost and total revenue
approach.

OR

Distinguish between (i} fixed cost and variable cost giving examples and (ii) average
cost and marginal cost giving an example.
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Draw supply eurves with price elasticity of supply throughout equal to (i) zero, (ii) one,

itl) infinity and (iv) less than one.

e (T - 11124 ﬁﬂa; ss fm w9 & e @0 9, 6 O,
(i) SF7 (infinity) § (iv) uF A FH B
For Blind Candidates only in lieu of . No. 13
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Distinguish between (i) elastic and inelastic supply and (i)  perfectly elastic and
pﬂrfﬂctly inelastic supply.

qs}mm%ﬁwqﬁ%aﬂawmmmaﬁtmmﬁ%
ale SR AR |
Explain, with the help of numerical examples, the efféct on total output of a good when

all the inputs used in production of that good are increased simultaneously and in the
sume proportion:

afg U aw & IWET H owgw WA W K uw AW el uw @ osmww # ofy
S A 3W A & F9 WG W 9S4 A Y6, HOAEd e 4 weEd d
HHERT |
Given market equilibrium of & good, what are the effects of simultansous increase in both
demand and supply of that good on its equilibrium price and quantity ?

: OR
Explain the implications of the following :
(iy  The feature ‘differentiated é:ruducts‘ under monopolistic competition.

(ii) The feature large number of sellers’ under perfect m&ip&tiﬁ.nn_,
T AR W AW Sqew a Refd # 2 | 3 4w 9 AW Sk 9 oM B wh me
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16. Explain the effect of the following-on demand for a =go:r£[ - 6
fi)  Rise in income
(i) Rise in prices of related goods
ﬁﬁ%ﬁ%ﬂ%ﬁaﬁaﬁﬂﬁwﬂgﬁmﬁmw:
() 3@ A gfg
(i) FEPHa Tegsli #1 Fmar § gfg

SECTION B
TE ¥
17. Give meaning of deficient demand. |
st w5 3 FEEn |
18. What is a commercial bank ? 1
aqifirsy % Fa1 @ & 7
19, Define government budget. |

HUEAT W & ity e |

20. What is fixed exchange rate system 7 1

e (fet) fafm =2 womeft & == sy 2 2

21. Define ‘aggregate supply’, 1
T gl W ufan i | ;

22. When exchange rate of foreign currency falls, its demand rises. Explain, how, a
aﬁﬁi‘?ﬁgmaﬁﬁﬁmﬂﬁmﬁé,ﬁmﬂﬁaﬁﬁ%rw.ﬁt

23, Disﬁhguish between balance of trade and balance on current account, 3
FNE ¥4 S = @ 9§ % S |

24, .Expl-ﬂ.in the ‘medium of exchange' function of money. 3

OR

Explain the evolution of maney.
T & e & e 5 6 e w6
el

9% % fa@E & swen st |

25. Give meaning of capital expenditure and revenue expenditure in a government budget
dnd an example of each, 3

ﬁmmwmﬁguﬁﬁmﬁﬁmaﬁ!wm%ﬂﬁml
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26, Caleulate Gross Value Added at Market Price from the following date : 3
(Rs. lakhs)
i}  Depreciation 15
{ii) Sales in the domestic market 250
(ili) Exports 50
{iv) Opening stock 20
(¥) Purchase of raw material 160
(vi) Closing stock 30
(vii) Import of raw material 25
Frefafas fFel § 990 v W Fee 9t g5 @ qieed Sl
(cira %.)
(i)  HEHEH . 15
iy o AR H 250
(i) frafa 50
(iv) A =TS 20
(v) © e WIS HOHE 150
(viy fH 2T 30
(vii) e WIS H ST 25
97. What in fiscal deficit ? What are its implications ? 4

e T F R 7 THE a4 WE § 7

28. If marginal propensity to save is 0:2, how much new investment is required to make the
national income rise by Rs. 600 crores ? Calculate. 4

Hﬁ-ﬁmﬂaﬂﬂﬁﬁn-faﬁ,ﬁnﬁrﬁmﬁsﬂu@sﬁ.ﬂqmaﬁ#fﬁqmﬁm
Ry 1 smEwEEd w7 uieen i |

29. Explain the lending function of commercial banks, 4
OR
Explain ‘banker to the government’ function of central bank.
- aftrer HE H OB 44 & FE FAERC |
[gar
g Hm T WER T 9950 w4 SR |
30. Giving reasons, explain how the following are treated in estimating natipnal income !
2.2, 2
(ij Wheat grown by a farmer but used entirely for family's consumption.
(if) Earnings of the shareholders from the sale of shares.

(iii) Expenditure by government on providing free education.
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81. Culeulate '‘Gross National Produet at Market Price’ and Personal Ineome' from the
following data : 8 3
(Rs, crares)

(1) Corporation tax b 157
]  Wages and salaries 200
(i1i) National debt interest 28
(iv) " Operating surplis 400
(v) Net current transfers from abroad 15
(vi)  Net fastor income from abroad (-] 10
(vit) Consumption of Axed capital 20
(wifl) Soecial security contributions by employers 40
(ix) Net indirect tax a0
(%) Net domestie product at factor cost accruing to the private sector 500
(xi) I(‘aurmnt transfers from government b

T AFEl § FER I W GFA UEF IEE a4 SEimd A" w5 9w
HITST

(F1E %)
(i) 9 & 35
(i) HIEd T4 964 : 200
(i) TEF F}OT T A= ! 25
(iv) WETe SAHYN 400

v)  foEe ¥ e 99 (9 s 15
wvi) faewr ¥ fam ons 3 (=) 10

(vil) &9 Gt 1 EEd (39EM) 20
(vii) FEiel g Al gE e , 30
(ix) el STueae &1 40
et 89 F 9 FRE G 7 e 9 I9E 500
(ki) HISHE g ﬁjﬁﬂ? E‘F'HT‘E'JT 3]
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32, BExplain ‘consumption function’ with the hélp of a schedule and diagram.
OR
Explain ‘saving function' with the help of & schedule and diagram.

wH WS R TEfe W FeEd § ST Fed FAREE |
3eEl
T gl 3 vafed @ weEw @ 990 v FAERC |
For Blind Candidates only in lien of Q. No. 32

Fae gieda whafdE & fog we @ 92 & E W

Explain ‘consumption function’ with the help of a schedule. Also record marginal
propensity to consume in the schedule.

OR

Kxplain ‘saving function' with the help of & schedule. Also record marginal propensity
to save in the schedule.
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